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Coordinate Geometry

1. The distance of the point  from the 

-axis is

P (2, 3)

X

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sU8IPCXhrDUi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

1

5

2. The distance between the points 

and  is

A(0, 6)

B(0, − 2)

https://dl.doubtnut.com/l/_sU8IPCXhrDUi
https://dl.doubtnut.com/l/_5OTW9I20SdCl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8

6

4

2

3. The distance of the point  from

the origin is

P ( − 6, 8)

https://dl.doubtnut.com/l/_5OTW9I20SdCl
https://dl.doubtnut.com/l/_njuuk5JC528m


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

8

2√7

6

10

4. The distance between the points  and 

 is

(0, 5)

( − 5, 0)

https://dl.doubtnut.com/l/_njuuk5JC528m
https://dl.doubtnut.com/l/_6eBKvNcByd9d


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

5√2

2√5

10

5. If  is a rectangle whose three vertices

are ,  and , then find the

length of its diagonal.

AOBC

A(0, 3) O(0, 0) B(5, 0)

https://dl.doubtnut.com/l/_6eBKvNcByd9d
https://dl.doubtnut.com/l/_h8rj3EX6rjaX


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5

3

√34

4

6. The perimeter of a triangle with vertices

(0,4),(0,0) and (3,0) is

https://dl.doubtnut.com/l/_h8rj3EX6rjaX
https://dl.doubtnut.com/l/_eOfpKviL8Jw1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

12

11

7 + √5

7. The area of a triangle with vertices

A(3,0),B(7,0) and C(8,4) is

https://dl.doubtnut.com/l/_eOfpKviL8Jw1
https://dl.doubtnut.com/l/_EKPGUPVVWgzw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

14

28

8

6

8. The points ,  and  are the

verticess of a

( − 4, 0) (4, 0) (0, 3)

https://dl.doubtnut.com/l/_EKPGUPVVWgzw
https://dl.doubtnut.com/l/_0KDlcwsPb8yf


A. right angle triangle

B. isosceles triangle

C. equilateral triangle

D. scalene triangle

Answer: B

Watch Video Solution

9. The point which divides the line segment

joining the points (7,-6) and (3,4) in ratio 

internally lies in the

1: 2

https://dl.doubtnut.com/l/_0KDlcwsPb8yf
https://dl.doubtnut.com/l/_p2hChf3LVbYf


A. I quadrant

B. II quadrant

C. III quadrant

D. Iv quadrant

Answer: D

Watch Video Solution

10. The point which lies on the perpendicular

bisector of the line segment joining the points

A(-2,-5) and B (2,5) is

https://dl.doubtnut.com/l/_p2hChf3LVbYf
https://dl.doubtnut.com/l/_uqRGY3jZsroD


A. (0,0)

B. (0,2)

C. (2,0)

D. (-2,0)

Answer: A

Watch Video Solution

11. The fourth vertex D of a parallelogram

 whose three vertices are , 

 and is

ABCD A( − 2, 3)

B(6, 7) C(8, 3)

https://dl.doubtnut.com/l/_uqRGY3jZsroD
https://dl.doubtnut.com/l/_t0agF6bYwbOP


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, 1)

(0, − 1)

( − 1, 0)

(1, 0)

12. if A(2,1) cuts line P(2,1) and B(8,4) then

A.  AP = AB
1

3

https://dl.doubtnut.com/l/_t0agF6bYwbOP
https://dl.doubtnut.com/l/_Pt6XKbsNeBiN


B. 

C.  

D. 

Answer: D

Watch Video Solution

AP = PB

PB = AB
1

3

AP = AB
1

2

13. If  is the mid - point of the line

segment joining the points  and 

, then the value of  is

P( , 4)
a

3

Q( − 6, 5)

R( − 2, 3) a

https://dl.doubtnut.com/l/_Pt6XKbsNeBiN
https://dl.doubtnut.com/l/_lVa6Us8pdWbZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−4

−12

12

−6

14. The perpendicular bisector of the line

segment joining the points A(1,5) and B(4,6)

cuts the Y-axis at

https://dl.doubtnut.com/l/_lVa6Us8pdWbZ
https://dl.doubtnut.com/l/_OH9z9bsG28Uu


A. (0,13)

B. (0,-13)

C. (0,12)

D. (13,0)

Answer: a

Watch Video Solution

15. The coordinates of the point which is

equidistant from the three vertices of the

https://dl.doubtnut.com/l/_OH9z9bsG28Uu
https://dl.doubtnut.com/l/_UD0FcJlJhdhA


 as shown in the figure is 


A. 

B. 

C. 

D. 

△ AOB

(x, y)

(y, x)

( , )
x

2

y

2

( , )
y

2
x

2

https://dl.doubtnut.com/l/_UD0FcJlJhdhA


Answer: A

Watch Video Solution

16. If a circle drawn with origin as the centre

passes through , then the point

which does not lie in the interior of the circle

is

A. 

B. 

C. 

( , 0)
13

2

( , 1)
−3

4

(2, )
7
3

(5, )
−1

2

https://dl.doubtnut.com/l/_UD0FcJlJhdhA
https://dl.doubtnut.com/l/_khA3wXlxIwNU


D. 

Answer: d

Watch Video Solution

( − 6, )
5

2

17. A line intersects the Y- axis and X-axis at the

points P and Q, respectively. If (2,-5) is the mid-

point of PQ, then the coordinates of P and Q

are, respectively.

A. (0,-5) and (2,0)

https://dl.doubtnut.com/l/_khA3wXlxIwNU
https://dl.doubtnut.com/l/_ZPogK8qqNBvu


B. (0,10) and (-4,0)

C. (0,4) and (-10, 0)

D. (0,-10) and (4,0)

Answer: D

Watch Video Solution

18. The area of a triangle with vertices (a,b+c),

(b,c+a) and (c,a+b) is

A. (a + b + c)2

https://dl.doubtnut.com/l/_ZPogK8qqNBvu
https://dl.doubtnut.com/l/_wmq2cTvwIaTB


B. 0

C. (a + b + c)

D. abc

Answer: b

Watch Video Solution

19. If the distance between the points (4,p) and

(1,0) is 5 , then find the value of p.

A. 4 only

https://dl.doubtnut.com/l/_wmq2cTvwIaTB
https://dl.doubtnut.com/l/_v8K0wXlfR2oL


B. 

C. 

D. 0

Answer: B

Watch Video Solution

±4

−4only

20. If the points A(1,2) , B(0,0) and C (a,b) are

collinear , then

A. a=b

https://dl.doubtnut.com/l/_v8K0wXlfR2oL
https://dl.doubtnut.com/l/_0Zsl10YrHBVH


B. a=2b

C. 2a=b

D. a=-b

Answer: c

Watch Video Solution

21.  ABC with vertices A(0-2,0),B(2,0) and

C(0,2) is similar to  DEF with vertices

D(-4,0) ,E(4,0) and F(0,4).

Watch Video Solution

△

△

https://dl.doubtnut.com/l/_0Zsl10YrHBVH
https://dl.doubtnut.com/l/_7XHo7xas7WAr


22. The point P(-4,2) lies on the line segment

joining the points A(-4,6) and B (-4,-6).

Watch Video Solution

23. The points (0,5) , (0,-9) and (3,6) are

collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_7XHo7xas7WAr
https://dl.doubtnut.com/l/_SWngawJ075jS
https://dl.doubtnut.com/l/_kx62APiMXLa1


24. Point P(0,2) is the point of intersection of

Y-axis and perpendicular bisector of line

segment joining the points A(-1,1) and B(3,3).

Watch Video Solution

25. The points A(3,1) , B (12,-2) and C(0,2)

cannot be vertices of a triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_q2sWg4ZxtrxP
https://dl.doubtnut.com/l/_IC2lXmkd1T8Y


26. Prove that the points A(4,3), B(6,4), C(5,-6)

and D(-3,5) are vertices of a parallelogram.

Watch Video Solution

27. A circle has its centre at the origin and a

point P (5,0) lies on it . The point Q (6,8) lies

outside the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_R8LGI3fi2eoH
https://dl.doubtnut.com/l/_8BIupk42gUle


28. The point A (2,7) lies on the perpendicular

bisector of the line segment joining the points

P (5,-3) and Q(0,-4).

Watch Video Solution

29. The point P (5,-3) is one of the two points

of trisection of line segment joining the points

A(7,-2) and B(1,-5).

Watch Video Solution

https://dl.doubtnut.com/l/_6qaLgr8ZjlPY
https://dl.doubtnut.com/l/_0xcWV9Q2mpYB
https://dl.doubtnut.com/l/_8PLyUwI08GQm


30. The points A (-6,10), B(-4,6) and C(3,-8) are

collinear such that 

AB .

Watch Video Solution

= − AC
2

9

31. The points P (-2,4) lies on a circle of radius 6

and centre (3,5).

Watch Video Solution

https://dl.doubtnut.com/l/_8PLyUwI08GQm
https://dl.doubtnut.com/l/_mPCckGJAmIcJ


32. The points A (-1,-2), B (4,3) ,C (2,5) and D

(-3,0) in that order form a rectangle.

Watch Video Solution

33. Name the type of triangle formed by the

points A (-5,6) , B (-4,-2) and C (7,5).

Watch Video Solution

https://dl.doubtnut.com/l/_HVWc5dAEEGcx
https://dl.doubtnut.com/l/_P0Kk6SecPtMD


34. Find the points on the X-axis which are at

distance of  from the point (7,-4) . How

many such points are there ?

Watch Video Solution

2√5

35. What type of quadrilateral do the points

taken in that order form?

Watch Video Solution

A(2, − 2), B(7, 3), C(11, − 1) and D(6, − 6)

https://dl.doubtnut.com/l/_dGUWdoH9g36S
https://dl.doubtnut.com/l/_wg7rZXupPzBL
https://dl.doubtnut.com/l/_Qh1VPOTRQaCo


36. Find the value of a , if the distance between

the points A (-3,-14) and B (a,-5) is 9 units.

Watch Video Solution

37. Find a point which is equidistant from the

points A(-5,4) and B (-1,6). How many such

points are there ?

Watch Video Solution

https://dl.doubtnut.com/l/_Qh1VPOTRQaCo
https://dl.doubtnut.com/l/_DeGrbBB2oaWc


38. Find the coordinates of the point Q on the

X- axis which lies on the perpendicular

bisector of the line segment joining the points

A (-5,-2) and B (4,-2). Name the type of triangle

formed by the points Q , A and B.

Watch Video Solution

39. Find the value of m, if the points (5,1), (-2,-3)

and (8,2m) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_60iBIQLsS5PZ
https://dl.doubtnut.com/l/_NuP2Le7AaN25


40. If the points A(2,-4) is equidistant from P

(3,8) and Q (-10,y), then find the value of y . Also

, find distance PQ.

Watch Video Solution

41. Find the area of the triangle wohose

vertices are (-8,4) ,(-6,6) and (-3,9).

Watch Video Solution

https://dl.doubtnut.com/l/_NuP2Le7AaN25
https://dl.doubtnut.com/l/_nS2jZiu6b9jf
https://dl.doubtnut.com/l/_ejIDQVY8bYfb
https://dl.doubtnut.com/l/_55oCXJidqBeO


42. In what ratio does the X -axis divide the

line segment joining the points (-4,-6) and

(-1,7) ? Find the coordinates of the points of

division.

Watch Video Solution

43. Find the ratio in which the point P

 divides the line segment joining

the points A  and B .

Watch Video Solution

( , )
3

4

3

12

( , )
1

2

3

2
(2, − 5)

https://dl.doubtnut.com/l/_55oCXJidqBeO
https://dl.doubtnut.com/l/_XPCG3PH2pyF8


44. If P (9a-2,-b) divides line segment joining A

(3a+1,-3) and B(8a,5) in the ratio , then find

the values of a and b.

Watch Video Solution

3: 1

45. If (a,b) is the mid - point of the line

segment joining the points A (10,-6), B(k,4) and

a-2b =18, then find the value of k and the

distance AB.

Watch Video Solution

https://dl.doubtnut.com/l/_n8zeOfrIuWIQ
https://dl.doubtnut.com/l/_ZMbfFy7MYdHd


46. If the centre of a circle is (2a,a-7) ,then Find

the value of a , if the circle passes through the

point (11,-9) and has diameter  units .

Watch Video Solution

10√2

47. The line segment joining the points A(3,2)

and B (5,1) is divided at the point P in the ratio

 and it lies on the line .

Find the value of k.

1: 2 3x − 18y + k = 0

https://dl.doubtnut.com/l/_ZMbfFy7MYdHd
https://dl.doubtnut.com/l/_OnYajKBBz2yd
https://dl.doubtnut.com/l/_zaP4KXFkkwnb


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

19

18

17

16

48. If D , E (7,3) and F  are

the mid - points of sides of , then find

( − , )
1

2

5

2
( , )

7
2

7
2

△ ABC

https://dl.doubtnut.com/l/_zaP4KXFkkwnb
https://dl.doubtnut.com/l/_kwx67wUgXQ5B


the area of the .

Watch Video Solution

△ ABC

49. If the points A (2,9), B (a,5) and C (5,5) are

the vertices of a . Right-angled at B,

then find the values of a and hence the area of

.

Watch Video Solution

△ ABC

△ ABC

https://dl.doubtnut.com/l/_kwx67wUgXQ5B
https://dl.doubtnut.com/l/_jyYpd4gCvMuc


50. Find the coordinates of the point R on the

line segment joining the points P  and

Q  such that PR  PQ.

Watch Video Solution

( − 1, 3)

(2, 5) =
3

5

51. Find the values of k, if the points A (k+1,2k)

,B (3k,2k+3) and C (5k-1,5k) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_5sxjSpbtcSpP
https://dl.doubtnut.com/l/_nghpE6ziZIXS


52. Find the ratio in which the line

 divides the line segment

joining the points (8,-9) and (2,1). Also find the

coordinates of the points of division.

Watch Video Solution

2x + 3y − 5 = 0

53. If (-4,3) and (4,3) are two vertices of an

equilateral triangle, then find the coordinates

of the third vertex, given that the origin lies in

the interior of the triangle.

https://dl.doubtnut.com/l/_ZUNfbOZskvVw
https://dl.doubtnut.com/l/_2yMgEtWy2VVa


Watch Video Solution

54. A(6,1) , B (8,2) and C (9,4) are three vertices

of a parallelogram ABCD . If E is the mid - point

of DC , then find the area of ADE.

Watch Video Solution

△

55. The points A

 are the

vertices of ABC. 

(i) The median from A Meets Bc at D. Find the

(x1, y1), B(x2, y2) and C(x3, y3)

△

https://dl.doubtnut.com/l/_2yMgEtWy2VVa
https://dl.doubtnut.com/l/_1YVwSKuXhvf0
https://dl.doubtnut.com/l/_UDi01dQUGLHU


coordinates of the points D. 

(ii) Find the coordinates of the point P on Ad

such that . 

(iii) Find the coordinates of points Q and R on

medians BE and CF, respectively such that

. 

What are the coordinates of the centroid of

the  ABC?

Watch Video Solution

AP : PD = 2: 1

BQ : QE = 2: 1 and CR : RF = 2: 1

△

https://dl.doubtnut.com/l/_UDi01dQUGLHU


56. If the points A (1,-2), B (2,3) , C (a,2) and D

(-4-,3) form a parallelogram , them find the

value of a and height of the parallelogram

taking AB as base.

Watch Video Solution

57. Students of a school are standing in rows

and columns in their playground for a drill

practice . A, B, C and D are the positions of

four students as shown in figure . Is it possible

https://dl.doubtnut.com/l/_cP7tcOy16gdB
https://dl.doubtnut.com/l/_QIyOEuWjN3s4


to place Jaspal inn the drill in such a way that

he is equidistant from each of the four

students A, B C and D ? If so, what should be

his position ? 

Watch Video Solution

https://dl.doubtnut.com/l/_QIyOEuWjN3s4


58. Ayush starts walking from his house to

office . Instead of going to the office directly ,

he goes to bank first , from there to his

daughter 's school and then reaches the office.

What is the extra distance travelled by Ayush

in reaching his office ? (Assume that all

distance covered are in straight lines ). If the

house is situated at (2,4) bank at (5,8), school

at (13,14) and office at (13,26) and coordinates

are in km.

Watch Video Solution

https://dl.doubtnut.com/l/_QIyOEuWjN3s4
https://dl.doubtnut.com/l/_zJPOUJh0dMOs


https://dl.doubtnut.com/l/_zJPOUJh0dMOs

